
Quiz 4: FTC1 and FTC2

Instructions: write your solutions to the following two questions on separate sheets of
paper. Show all work to receive credit. You will have 25 minutes to complete the Quiz and
10 minutes to upload your solutions to the Crowdmark assessment “Quiz 4” located in the
Assignments tab of the Discussion iLearn.

(1) [3pts] Compute
d

dx

∫ 3x

2x

tan tdt.

(a) Using Theorem 5.2.1 explain why:∫ 3x

2x

tan tdt =

∫ 3x

0

tan tdt−
∫ 2x

0

tan tdt.

(b) Using FTC1 and the chain rule, compute

d

dx

∫ 2x

0

tan tdt and
d

dx

∫ 3x

0

tan tdt.

(c) Combining your answers to (a) and (b) compute

d

dx

∫ 3x

2x

tan tdt.

(2) [3pts] Evaluate

∫ 2π

π

(
2 cosx− 3

x

)
dx.

(a) Using Theorem 5.1.2 evaluate

∫ (
2 cosx− 3

x

)
dx.

(b) Using FTC2 evaluate

∫ 2π

π

(
2 cosx− 3

x

)
dx.




